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######################################################

1. Unstetigkeitsstellen liegen dicht
2. dennoch Integrierbar
Hairer/Wanner,Analysis by Its History, Springer 1996, S. 224
gcd(14,35)
7

fr:=(p,q)->gcd(p,q)/q  //rationale Argumente
(p, q) ® gcd(p, q)

q
ÅÅÅÅÅÅÅÅ

([p,q,p/q,fr(p,q)] $ p=1..q-1) $ q=1..4;
([p,q,p/q,fr(p,q)] $ p=1..q-1) $ q=5..8
h
1, 2, 12

ÅÅ, 12ÅÅi, h1, 3, 13ÅÅ, 13ÅÅi, h2, 3, 23ÅÅ, 13ÅÅi, h1, 4, 14ÅÅ, 14ÅÅi, h2, 4, 12ÅÅ, 12ÅÅi, h3, 4, 34ÅÅ, 14ÅÅih
1, 5, 15

ÅÅ, 15ÅÅi, h2, 5, 25ÅÅ, 15ÅÅi, h3, 5, 35ÅÅ, 15ÅÅi, h4, 5, 45ÅÅ, 15ÅÅi, h1, 6, 16ÅÅ, 16ÅÅi, h2, 6, 13ÅÅ, 13ÅÅi, h3, 6, 12ÅÅ, 12ÅÅi, h4, 6, 23ÅÅ, 13ÅÅi, h5, 6, 56ÅÅ, 16ÅÅi, h1, 7, 17ÅÅ, 17ÅÅi, h2, 7, 27ÅÅ, 17ÅÅi, h3, 7, 37ÅÅ, 17ÅÅi, h4, 7, 47ÅÅ, 17ÅÅi, h5, 7, 57ÅÅ, 17ÅÅi, h6, 7, 67ÅÅ, 17ÅÅi, h1, 8, 18ÅÅ, 18ÅÅi, h2, 8, 14ÅÅ, 14ÅÅi, h3, 8, 38ÅÅ, 18ÅÅi, h4, 8, 12ÅÅ, 12ÅÅi, h5, 8, 58ÅÅ, 18ÅÅi, h6, 8, 34ÅÅ, 14ÅÅi, h7, 8, 78ÅÅ, 18ÅÅi
plot(plot::Listplot([([p/q,fr(p,q)] $ p=1..q-1) $ 
q=1..30]))
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fg:=plot::Listplot([([p/q,fr(p,q)] $ p=1..q-1) $ 
q=1..50],
         LinesVisible=FALSE, PointStyle=XCrosses, 
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         LinesVisible=FALSE, PointStyle=XCrosses, 
PointColor=[1,0,0]):
plot(fg)
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n:=6: eps:=1/n; k:=n*(n-1)/2;  // oder *56
Dz:=[i/(n*k) $i=1..n*k]:
1
6
ÅÅ
15

alle:=plot::Rectangle(i/(n*k)..(i+1)/(n*k),0..max(fr(i,
(n*k)),fr((i+1),(n*k)))) $ i=1..n*k-2:
alle2:=plot::Rectangle(i/(n*k)..
(i+1)/(n*k),0..max(fr(i*56+j,(n*k*56))$ j=0..56 )) $ 
i=1..n*k-2:
epsg:=plot::Line2d([0,eps],[1,eps],LineColor=[0,0.5,0]):

plot(alle,alle2,fg,epsg)
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